NEEETY Vb

89. RDMEZE KD X,
(1) log,8
1
(6) 10g3ﬁ
(6) log 516

1
@) logaﬁ
9) log,¥/81

90. RDIEZ KD &,
(1) log;9

1
3) 10g5ﬁ
5) log m—m

8749

1
) 10g2m

©9) log,/32

91. RORDEHEEE &,
(1) loggl8 +logg2

3 log;2 —log,98
(5) 2log,2/2

(7) logs30 —log;20 + log;18

9) 2log;y15 +6logp/2 —logyy18

92. ROARDEHEE L,
1) 10og1,20 +log1,5

3) log,12 —log,96
(5) 2log;9+/3

(7) loge24 +1logs18 —loggl2

9) 610g3f—%log32 +1og3@

(2) log,

3

©|—

(4) log.25

6) log;7\/7
®) log,3/2

(10) 1og5%

1

2 Iog% g

4) log.7
7

(6) log,1004/10
8) logs¥/5

1
(10) 1og3W

(2) logs54 —log,2
4) log,12/2 —log,6
(6) 2108‘3@

7 3 7
8 logyy —2log; —log;o

4 1 1 16
(10 Ioggg +510g375 —glogsﬁ

) 1ogs500 — logs4
(4) log;4 —log,364/3

6) 210g2%

2 4 4
8) 21og5§ +10g5§ —210g5§

(10) Iogslsf_%mgsg_%logs%‘

93. ROMEE KD &,
(1) log,8
(3) logsV8

1 1
() 1ogzg ‘10gsz

(7) log,3 -(log;4 +1logs8)

94. RDEZERD &,
(1) logy9
@) 10g8\/§

1 1
®) Ingg -log3§

(7) log,2-(log,9 +1log,9)

95. ROAGERZRIT,
(1) log,x=2

(7) log,(3x—1)=—-2

9 10g%(3—2x) =2

96. ROAERZRIT,
(1) logzx=2

5
(&) Ingx—E
(5) log,x=—3
(7) logs(2x+3)=2

9 log,(2x+1)=-1

1
loggg
logs5 - logs9
log;+/3 -log;v/8

l0g,25 -<log5% +10g25%>

lo €

gs 16
log;3 - log349
logs+/125 -logs+/27

1 1 1
loggi -<log4§ + Iogs§>

logsx=—1
lo Jc——i
g X = 2
logs(x—1)=2
1
log,(2x+5) =3

logo2(2—3x)=—1

log;x=0

loggx = —

w|ro

logs(x+3)=—1

ro|en

log,(2—x)=

loggs(2—5x)=2

97. ROFRERZfRT,
1) log,xz+
(3) logp(2x+4)<2

98. ROFER=fRT,
(1) log,px>—3

3) logs(x—3)=—1

99. RO FRERNE/RIT,
(1) logy(x+1)+log,(x—2)=2
3) 2(logsx)*+2=>5logsx

100. XD ATERNE RIS,
(1) logs(x—4)+logs(x+4)=2

3) 3(loggx)®+loggx =2

0L RDTERERIT,
(1) logy(x+1)+log,(x+2)=<1

3) (logyx)®+log,x° +4=0

102. ROTERNE RIS
(1) logs(x—4)+logsx <1

(3) (logsx)’—logsx* <3

(2) log,x=3
3

@) 1og%<x—5)z—2

(2) log,x<—5
2

(@) log,(5—20<0

(2) log,(x+3)=log,(2x+2)
(4) (log,x)*—T7log.x +3=0

2) log,(x2—3x—10) =log,(2x—4)

(4) (log% x>2+ logyx =%

2) 2log,(x+1)=<log,(x+3)

4) (logsx)®—3logex —1<0

2) Zlog%(x—B) <1og%(x— 1)

4) (log,x)*—3log,x +8=0



